MATH H54 Midterm Exam #2 NOVEMBER 9, 2017

Complete all problems. You must show your work or justify your answer for all
problems. Answers without work or justification will receive no credit (even if they are
correct). You may quote theorems and results from class or the homework without
justification (name the theorem or state “we proved in class that ...”). Every other
fact must be justified. If you need more space, use the blank pages at the back of the
exam. If you want me to grade work done any of those pages, clearly indicate this
next to the appropriate problem.

Problem 1 6
Problem 2 6
Problem 3 6
Problem 4 6
Problem 5 15
Problem 6 15
Problem 7 14
Problem 8 9

Total 7
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1. (6 points) Show that the only real matrix that is orthogonal, symmetric, and
has all positive eigenvalues is the identity matrix.

B orth = A'=AT. PVS\NNY\ 3 f=AT

S0 RZZAQTzl. A SLA\‘(\W\ %O(“\.diosﬁ A; "PTDP
T-A"=PDP > D=-T = uvirin o £\

enkcies ace 1, since A has ol ’\)Oﬁi‘H\’Q g-val's.
S V=1I.

Thus, RA=PTIP-= PTP=T.

2. (6 points) Let A be a real n x n matrix. Prove that if |AZ|| = ||Z]|| for every
Z € R", then
<Afa A@ = <fv?7>

for every 7,4 € R™.
<A(Y+q‘\. A(?fk&\) = (i‘_rtj ,7()1—'&35
CAC/ATY+ AT RG? +<0G, AYD -&K T +2X> + T
GRS+ 3ATA> 1035 = G812 <K5h G
> LAY A = <8 §) v



3. (6 points) Find the homogeneous linear differential equation equation with con-
stant coefficients of least order that has

y = 2e* + 3sin(2t) + 2t

as a solution. C= 5) =+ Q\L' (’:0 ~odol L

-5 9) = (2(02 3¢ de-12) =S 3¢ vl 2o

‘ 8(6)‘ 330‘“ +4Hm’ ‘Qtl-\” - O

4. (8 points each) Assume that y,(t) = cost and y,(t) = ¢ are both solutions of
the equation ay” + by’ + cy = ¢(t) for a certain function ¢(t).

(a) Find a nonzero solution of the homogeneous equation ay” + by’ 4+ cy = 0.

(1&): cost -t <09(H'qb(ﬂ =0)

*N{:{(nmﬂ\l@,\\& 100 0oulA show Yhat there is 5

) -
no soch d®eentiol q_cb\,\o&%on wnless a=b=C=

(b) Find a solution y(t) of ay” + by’ + cy = ¢(t) such that y(0) = 2.
%1 (0)= | ‘jz[(ﬂ:o.
yb=d cost -t (5“6({\ 40 - ob(ﬂ)




5. Consider the inner product space C([—1,1]) with the inner product

(f.9) = g f(x)g(z)dx.

(a) (10 points) Construct an orthonormal basis (with respect to this inner
product) for the subspace Py of polynomials with real coefficients of degree
at most two.

Foo. IR0 S, 1dy=2 — /7 =1
: )
Po= %, ble §ixde=0. W[ xPax=%¢]0 -4
- %X “pz
by = Y5 = &0 i) Uz SRR EY:
5 0G Gy = 7 v - 1%
- (3 = 0

i-f%,gx) {2 (- 15) 3




(b) (5 points) Find the best approximation (with respect to this inner product)
to f(x) = 2 by polynomials in Ps.

=0, 45 [Ewr) =0
<Xg,é\(> = Eyj) X{"dx: E .%-

5
~ 2 2 —_
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6. Consider the differential equation
y" — 4y’ — 12y = 80sin(2¢).

(a) (4 points) Find the general solution to the corresponding homogeneous
equation y"” — 4y’ — 12y = 0.

(- UYe-12 =0
(r-(a\(rh’l\:o
C=l, M=-2

5()& = C, et x C. e'ltj




(b) (5 points) Find a particular solution to the non-homogeneous equation
y" — 4y — 12y = 80sin(2t).

%p(‘c\: A cos+ Bsinde

fpte) = - Msin ab + 2B e 2t
Up (6) = ~hiyeos 6 — dBsin 2
(-untosdt— 4R5InadL) - 4 (-Afsinak +28e0S at) - 1A (Aeo s+ sindd)
(-4p ~-RB-12A) eps b+ (-4B +%A —128) Sindk = ZOsIn b
~\LA -¥B=0 —-2A=D
I/ -1LB=30 > A-ZB =10 A -a@m =
SA=0 =»fR=2 > B=-Y4

HP‘J“ = Acos(de) -4 sm(@




(¢) (1 points) What is the general solution to the non-homogeneous equation?

y (&) - 0.el* +Cre ™ 4 Lcos () - 4sin @)

(d) (5 points) Find a solution y(t) to the initial value problem

Y — Ay — 12y = 80@ y(0)=2,  4(0)=0.
Shouwld be in 2t .

%(O\;C\ FG ¥4 =7 — G+C, =0 ™ ¢=-C,

Lﬁ'(b\: L -3l e™ - 4310 (3k) - Yo st
8)'(0\ = CQC\’ QCZ-%’ =0 ™ ?)C‘ ‘CZ =‘-I~

3¢, +C, =Y
“e, =¢
C,=( A Cp=l

S(Jc\ = e“_e % 1 Acos @) -4sin (24)




7. (2 points each) Determine if each statement is true or false, and write the word
TRUE or FALSE in the space provided. You do not have to justify your answer,
and no partial credit will be awarded.

(a)

Let ¢, 0, Z be vectors in a real inner product space V. If (¢,w) = 0 and
(0,2) =0, then (w, 2) = 0.

FRLSE
If (¥,2) = (W, Z) for all Z € V, then ¥ = .

YRWE

The eigenvalues of an orthogonal matrix are all real.

FALSE

For any matrix A, the matrix AA” is diagonalizable.

T

Rue
The function y = tsin(t) is a solution to y™® + 2y” +y = 0.

TRUE

Suppose y = C1y;(t)+Cays(t) is a general solution of a certain second order
linear equation ay” + by’ + cy = 0. Then the Wronskian Wy, y»](t) = 0.

FALSE

Suppose y; () is a solution of a certain second order linear equation ay” +
by’ + cy = g(t). Then yo(t) = Cyy(t), where C' € R is any constant, is
always another solution of the same equation.

FALSE



8. (3 points each) For each part, circle the correct answer. If it is not clear which
choice you have circled, no credit will be given. You do not have to justify your
answer, and no partial credit will be given.

(a) Suppose the characteristic equation of a sixth order constant coefficient
homogeneous linear equation is

4(r —2)(2+7r)2(1—r)*=0.

Which of the following is not a solution of the equation?

i.y=0
@y = —t’!
iii. y = 3e? — Ste~
iv. y = 2t%e! 4 Hte 2+

(b) Which of the following is a solution to the initial value problem

y'+2y=e',  y0)=0,  y(0)=07

(c) Which of the following is the correct form of a particular solution to
y W — 16y = 2% + 3e™ + cos(2t) + 57

i Aje™?t + Ajet + Assin(2t) + Ay cos(2t) + As
ii. A1t2672t + A264t + A3 SlH(Zt) + A4 COS(2t) + A5
iii. Ajte® + Age? + Agt cos(2t) + Ayt sin(2t) + As

1v.) None of the above.
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